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1. %A P15 HE 2.4

2277 ) 7 MMl : output_complex.py

# output complex.py: M 2.4 EWERLEOEXSEHT
str a = input('Real(c) = ? ")

str b = input('Imag(c) = 2 ")

# SCFHIE TR A
float (str_a)

o
Il

float (str_b)

# c:=a+ b *i

c = complex(a, b)

# c OFR
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print('c = ', ¢, type(c))
# sEHEX AT
print('c = (%25.17e) + (%25.17e) * i' % (c.real, c.imag))
print('c = (%25.17f) + (%25.17f) * i' % (c.real, c.imag))
print('c = (%25.17g) + (%25.17g) * i' % (c.real, c.imag))
# format 3
print('c = ({:25.17e}) + ({:25.17e}) * i'.format(c.real, c.imaqg))
print('c = ({:25.17f}) + ({:25.17f}) * i'.format(c.real, c.imaqg))
print('c = ({:25.17g}) + ({:25.17g}) * i'.format(c.real, c.imaqg))
# £ 3CFF
print(f'c = ({c.real:25.17e}) + ({c.imag:25.17e}) * 1i'")
print(f'c = ({c.real:25.17f}) + ({c.imag:25.17f}) * 1i'")
print(f'c = ({c.real:25.17g}) + ({c.imag:25.17g}) * i'")

AT -

PS C:\Users\tkouy\OneDrive - #EEBE TR A FE\EZAF ¥ 1 X ¥ F \E{EZ I7T1\2024samples> python output_complex.py
Real(c) = ? -3
Imag(c) = 7 4
E (-3+4j) <class 'complex'>
( -3.00000000000000000+00)
C -3.00000000000000000)
C -3)
( -3.00000000000000000e+00)
-3.,00000000000000000)
C =)
( -3.00000000000000000+00)
( -3.00000000000000000)
( -3)

4.00000000000000000e+00)
1.00000000000000000)

u)
4.00000000000000000e+00)
4.00000000000000000)

4)
14.00000000000000000e+00)
L.00000000000000000)

4)

+ 4+ + A+ A+
* % ok F F % ¥ * ¥
I S I P S W iy Ty

Cc
Cc
C
C
Cc
Cc
Cc
Cc
C

2. 7% A P16 [ 2.5
A7) 7 MMt cale_formu.apy
# calc formula.py: 2.5
from cmath import * # sqrt,exp,log # HHT DB

# 1. exp((-4/3)"3)

print('exp ((-4/3) ** 3) ="', exp((-4/3) ** 3))
# 2. sqgrt(-5)

print ('sgrt(-5) = ', sqgrt(-5))

# 3. exp(log(-10))

print ('exp(log(-10)) = "', exp(log(-10)))
# 4. i1
print (' (1J) ** (13) ="', (13) ** (13))
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FATH

exp((-4/3) **x 3) = (0.0934461101976254+07j)
sqrt(-5) = 2.23606797749979]

exp(log(-10)) = (-10.000000000000002+1.2246U4679911473535e-15j)
(1j) ** (1j) = (0.20787957635076193+07j)

3. 7¥Z K P17 [iE 2.6
# quadratic eq complete.py: 2 G ZM < (BEHRMERTICKR)
import cmath # EFREM sqrt B

# BERREAT

re a = input('Re a =? ")
im a = input('Im a =2 ")
re b = input('Re b =2 ")
im b = input('Im b =2 ")
re ¢ = input('Re c =2 ")
im ¢ = input('Im ¢ =? ")

a = complex(float(re a), float(im a))
b = complex(float (re b), float(im b))
c = complex(float(re c), float(im c))
print (f' {a:25.17e} * x"2")

print (f'+ {b:25.17e} * x')

print (£'+ {c:25.17e} = 0")

# a == 07
if (a.real == 0) and (a.imag == 0):
# b == 07
if (b.real == 0) and (b.imag == 0):
if (c.real == 0) and (c.imag == 0):
print ('x IFMEE, ")
else:

print ('c !'= 0 -> FERIIZ>TWVERFA, ")
#b!'=0->b*x+c=0->x=-c/b
else:
x=-c/ Db
print ("1 WHERX > x = ', x)
print ("H®E: b * x + ¢ =072 -> "', b * x + c)
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# 2 WO E
else:
d=Db ** 2 -4.0* a * c

print ('complex solutions: ¥n')

x1 = (b + cmath.sqgrt(d)) / (2 * a)
x2 = (b - cmath.sqgrt(d)) / (2 * a)
# Hh

print(f'xl = {x1:25.17e}")

print (f'x2 = {x2:25.17e}")

# 5

print('a * x1"2 + b * x1 + ¢ = 0?2 -> ', a * x1**2 + b * x1 + )

print('a * x2"2 + b * x2 + ¢ = 0? -> ', a * x2**2 + b * x2 + C)

FATH -
Re
|
Re
|
Re
|
.00000000000000000e+00+1 0000000000000OOEOe+OO]j * x"2
+ 1.00000000000000000e+00+L.00000000000000000e+00j * X
+ 1.00000000000000000e+00+1.00000000000000000e+00j = @
complex solutions:

1 —9.47326502254152252e-01+2.96171154866918918e-01j
X2 8.47326502254452385e-01+1.0038288L513308102e+00j
a* x1l"2 +b*x1+c=07—-> (1. 3322676295501878e 15+H H49892098500626e 16J)

-4/4-



